WERRE HEA BB S BB AT
% # ' A - BRI Bty " B B & & # . @ o=
EERE ' : 1,902, 800
EREEAEE R : ' , : ' - 1,902, 800
HRELHBE FRED : ' ‘ | 1,902, 800
EREENEEREE ' ‘ - - | . |- 1,865,500
TEEN 7 7 — - _ T 220,200
T HEER _ E , T 100 220,200 220, 200
THRERE E , ' ; - 434, 400
7 ARREEE ‘ _ _ , _ ~4.00 108, 600 434,400
. A Lo ‘ .
REORE N 7 - . 565, 800
TREEOEN (1) ' =E (D) 7 Co.o.2.000 188, 600 . 377,200
' ®R g .
I REORE (5] B (1) ' ' ' <200 94,300 188, 600
S ' ' , HE | ‘ :
RE , - | ] 310, 500
5 BEEHR . ' -1.00| . 310,500 310, 500
TEEE : — . 334, 600
6 BMBE . 1,00 " 90,800 T - 90,800
_ Bl
T PEHE _ - : - -+ 1.00 90, 800| 90, 800
& -




RERNRE | - : REH AT TR E SRR

- # - s - kR B % £ 8O & @ I
§ RERE < 1.00 153,000 153,000
. ’ [
HiEER : - 37,300
EBAER : 15. 300
O EFHSE - o . - 1.00 . 15,300 -+ 15,300
. s |

2 ~ 22,000
0 EBRES ' o T iw . 22,000 22,000




EEAER RIS TR EE RS

% B - PR 5 B & @ |- . #BE

BERE *11. 865, 500 -+ 37, 300 1,902, 800
TERARE . ] 7, 865, 500
EEER 37.300
ZTORRE 1,865,500 x 53.85% (0% + (1 — 30%) ) 1,004, 571
%ﬁ}ﬁ{gﬁ 1,902, 800 + 1,004, 571 . 2,907, 371
—REEES 2,007,371 x 53.85% ( W= (1= 3% ) — 2.000° 1,562, 629

EBEE 2,907,371 + 1,562,620 4,470,000 :
;‘ﬁ%ﬁﬁ%ﬁﬁﬁ 4,470,000 x 10.00% 447, 000
|[EBERE 4,470, 060 + 447,000 4,917, 000




REFT BT/ Svr—

FHE

HEES ETATERSS TR EE AR

1
A BFEE . #® (1)
r - B - BHRTE E5 = ) & & e
TEHE (&
A - 1.00 62, 200. 00 62, 200
iR (A) _
A *1.00 55, 200. 00 55, 200
HEm (C) ;
A *2.00 35, 600. 00 71,200
H#iB
A + 1.00 31, 600, 00 31, 600/
& & fEEHED ¢ 1. 0058 s 220, 200.00 220, 200
EE:2
B SRR : EHE (1EH)
r T B - Bkt HfL 2 EE £ = 5 * :
B (A) )
‘ A * 1,00 55, 200, 00 55, 200
HEm (C) -
A - 1.50 35, 600. 00 53, 400
& & {EEREH :71.00155 108, 600. 00 108, 600
S .3 )
B BROBRM (1) B (1) ‘ HE (1EA)
- r ¥ B - BHTE B = EN %= 8 . e
EFHED &)
A - 1.00 62, 200. 00 62, 200
HE (A)
A -1.00 55, 200. 00 55, 200
i (C)
. A - 2,00 35, 600. 00 71,200
s bt H : 1.00IER 188, 600, 00 188, 600




BB - T S hr—S

MBS R AR AR SRR AR

T EBE 4
2% BHEORE (2) £# (1) EHE (1EE)
£ Eoi % - gt~k By = B O B % =
= fE FRAT () ‘ _
, A - 0.50 62, 200. 00 31,100
e (A) N
A * 0,50 55, 200. 00 27. 600
HEm (C)
_ A - 1.00 35, 600, 00 35, 600
& & fEhEH - 1. 008iH 94, 300. 00 94, 300
&2 .5 )
B MEEER = (1)
2] in B - kT By g BH O B i &
R (GRED
A . 1.50 62, 200, 00 93, 300
HE (A)
A ~ 1.50 55, 200, 00 82, 800
e (C) :
A - 2.00 35, 600, 00 71, 200
Hirg
A -2.00 31, 600. 00 63, 200
& & {EZAES - 100k 310, 500. 00 " 310, 500|
ES:6
% H : TRk . | (1E)
# H HiE - T X ivd = L ] ] W &
HEm (A)- ,
A +1.00 55, 200. 00 55, 200
¥ (C)
A -1.00 35, 600. 00 35, 600
&  # fegrEH : 1. 008 90, 800. 00 99, 800




RffiR - T/ —

MEBSEE S LR TR TR R

fEZAER - 1.00=L

22,000. 00

B55:.7 .
T : DEEE 3 _ E (@)
& FHE - BRI B E 1 W % 5
HER (A) - :
- A <1.00 55, 200, 00 55, 200| - .
Higm (C). -
_ A 00 35, 600.00] 35, 600
la = fefih - 1, 00E 90. 800, 00 90, 800
BS5:8
2% : BREE . | m (1E)
3 B - BT i ® & #ﬁi ® =
R GXED :
A 00| . 62, 200, 00 62, 200
A (A) = ‘
A .00 55, 200, 00 55, 200| -
HE (C) ,
A - 1,00 35, 600, 00 35, 600
T fERAEH ¢ 1. 00E 153, 000. 00| 153, 000
5:9 B
B BHELE _ 15ty
: 3 B - BRTE Hi = 5w S & S
FEALE : :
at .00 15, 300. 00 15, 300
& ® fexiEh 1,002 15,300, 00 15, 300.-
ES: 10
ST EBRES _ 155y
A& B BT B - A = i S
E3 e - -
st 00 22,000.00 22, 000
& &t 22,000




